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Solution to Problem Set 1.

Problem 1.2 in textbook:
For player 1 (the row player), T dominates B.
After eliminating B, in the reduced 2 × 3 matrix, we see that for player 2

(column player) R dominates C.
After eliminating C, we are left with a 2 × 2 game in which no strategy is

dominated. So, strategies T andM for player 1 and L and R for player 2 survive
iterated elimination of dominated strategies.
Nash equilibria: (M,L), (T,R).
Other problems:
1. Strategy A for player 1 strictly dominates strategy C. In the reduced game

obtained after eliminating C, strategy R for player 2 strictly dominates strategy
L. In the reduced game obtained after eliminating L, strategy A for player 1
strictly dominates strategy B. In the reduced game obtained after eliminating
B, strategy R for player 2 strictly dominates strategy M. In the reduced game
obtained after eliminating M, strategy D for player 1 strictly dominates strategy
A. The unique pair of strategies that survive iterated elimination of strictly
dominated strategies is (D,R). This is also the unique Nash equilibrium of the
game.
2. No strategy is strictly dominated.
Nash equilibria: (T,L), (B,R).

1


